Question 1: What is the sample size of the data? /0 v

Question 2: Find out Y, xy;y; m%—z .8 é

Question 3: Write out the fitted equation.
Q= oo + 12 Xt 087K +2.03(X; 0 -ByXy 0247 XS

Question 4: Find out the MSE.
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Question 5: Find out the standard error of 3, (MS[:: = ‘Zg sé
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Question 6: Apply t tes;)gi\\Ho: Bs= 2.g5 vs. H,:B3< 2.5 A S& i_&: 73“
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Question 7: Find out Type | SS for Xs .
t <S% T KR Y Xy = Perklal 3S Y- = (/75795

Question 8: Find out the following extra sum of squares. If you cannot find it based on the above
information, then write NA.
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Question 9: Find out the SSReg for the model.

Q1923 + 2470942432803 t420 = /3(5.7

Question 10: Apply GLHT on Hg: B4 = Bs = 0 vs. H,: at least one of them is not zero.

a) Write out the reduced and full models.

Redued .= foifift pkatBors e Ll %:ﬁwﬂxmﬁxﬁ +/§ Kyﬂ X

b) Calculate the test statistic.
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¢} Find the degrees of freedom of the test statistic. d .—-g = (2 y Ci@ 2 lbpo-§ /'007
d) Find the range of p-value based on the F table you have. P’V"(*-‘L >0 OS

e) What s your conclusion. There 2> f\)OT 5‘*—‘—&“6‘.&«,}7 .
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